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1,475 - 816 = 659
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Small numbers are used to create accounting entanglements (example: 1,475.97 -816.00 = 659.97) to make them appear unworthy of attention, as if the issue were the amounts. The issue is not the amount. The issue is that they entangle.
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1,475.97 – 816.00 = 659.97 
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Estate accounting
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The CPA Joanne Barnes created the accounting entanglement 1,475.97 - 816.00 = 659.97 by reporting different amounts to different entities when the amounts should be the same. For the Trust, she reported 1,475.97 to the Court and 816.00 to the IRS. If the 1,475.97 and the 816.00 were corrected to the same number, the accounting entanglement would be removed. For the Estate, she reported the difference of 659.97 to the Court and to the IRS. 
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What accounting trail(s) did Commissioner Jesse B. Wilson, III, approve for these numbers if not 1,475,97 - 816.00 = 659.97?                                         

"Int fm Harold O'Connell Trust ......................................... 816.00    (From Estate account at bk467p192)
  Debt fm Harold O’Connell Trust ..................................... 659.97"  (From Estate account at bk467p192)
"Payable to the Estate of Jean M. O'Connell ................ $ 1,475.97" (From Trust account at bk480p1768)
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The $1,475.97 in this trust accounting was approved by Jesse Wilson on October 4, 1993: I don't understand why he will not recognize the accounting entanglement trail 1,475.97 - 816.00 = 659.97 n his report to the Judges on August 8, 2000.. 
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What accounting trail is Commissioner Jesse Wilson approving if not 1,475.97 - 816,00 = 659.97?
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                                                                         1,475.97 - 816.00 = 659.97
"Int fm Harold O'Connell Trust ......................................... 816.00    (From Estate account at bk467p192)
  Debt fm Harold O’Connell Trust ..................................... 659.97"  (From Estate account at bk467p192)
"Payable to the Esate of Jean M. O'Connell ................ $ 1,475.97"  (From Trust account at bk480p1768)
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 1,475.97 - 816.00 = 659.97
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"Late" K-1
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 Virginia Bar to me, February 10, 1993, in part - "As justification for the delay, Mr. White points out that he experienced some delay in getting the K-1 from you and your own complaint appears to concede that there was some delay in getting the K-1 to Mr. White."   
(The CPA Joanne Barnes did the accounting for the Estate and for the Trust. This means she was late in getting her K-1 to herself.)
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Lynch Note Interest
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